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Test 1 (B)
Question 1. (10 marks) .
‘a) Briefly state the three types of elementary row-operations.
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b) Using elementary row operations, find the reduced row-echelon form of the following matrix.
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Question 2. (10 marks) The following is an augmented matrix for a system of equations in row
echelon form.

10 5 3
01 6 9
0 0 a+5 b-10

What are the values of g and b so that the system has:
a) no solutions? -
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‘b) inﬁniteiy many solutions?

C\J\ 5«0 A0 beto=0

e e e ettt

La— S5 Al 0=/ |

-¢) one solution?
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Questibn 3. (10 marks) Solve the following system of equations:

x1 + x + 3x3 — 6xa

= -2
2x9 + 4dx3 + 4dxa = 4
X1 + 3% 4+ Tx3 — 2x4 = 2
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Question 4. (10 marks) Given:

1 0 '
2 0 3 01

A=1]1 -1 B=[ }cz[ : J
: {32]1—2 21

Computing the following where possible. If not possible indicate so.
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Question 5. (10 marks ) Find A given:

-0t =4 ]



Question 6. (6 marks) Given n x n invertable matrices A, B, and C state whether the following
statements are always true (T) or not (F). '

a) (AT =4 T
b)AB=BA F

©) (AB)"!=B"14"1 T

d) (B+C)'=B"l+Cc! F
A=)t
D (A+B)C=AC+BC T

Question 7. (4 marks) Determine which of the following are elementary matrices. Circle the ele-
mentary matrices: '

11050 01 0 3000
_[50] sNMo1 0o o h)[0 100
A“{os] @.oo Lol ST I0 0l 230010
| 00 0 1 0-0 0 1

Bonus: (1 mark) Recommend an interesting item that you would not leave without when going on -
a long backpacking trip. Remember, space in your bag is an issue. If time permits, explain your
answer. o ‘



